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1. o =gl e s g 2
(a) gu #
(b) Tsg H :

LAe) Il §
(d) 3udea ® @ forelt o e

2. Sfed % 329 W W 9g & foe R el @
g hdT gl B ?

(a) ¥mr, g@ 3R I

(b) Y\ IR T hit W
VAe) o, T 3 3

(d) T A I T

3. 3l 1 AR TR W W BT d 7
(a) & reoTEl g

o T e 1 e 4
(c) & |
(d) T d

g T 1 I S e 4
(a) mmuamm

(b) H BT TES ,
(c) g@ F T |
= ﬁq@ﬁmﬁmﬁz?
' g (b) k2l
o (d) =HUE F

RFL -

0. "aRem’ v v 3
(a) SC V({) Tl
(C) wHmy (d) Ham9

@ Tt T Y § B-m BrafEh 2

RATER 7

(a) sy, =mg T i §1 | 7T I g ST B |

(b) At | =R S 1 Bl | WIS Rl gEel ST B |
AT SR, =R S o B, WIS S gEel S 2

(d) s | =g S oft @ | AT Y e S B

T + 39 = 9 | HiA-w wfy g ?
(a) ferant @fy
(b) TR @iy
(c) =& iy

(d) 3w & @ =S TE
@ﬁmﬁrf@aﬁﬁ‘m’%%ﬂaﬂq—mwwﬁ
BT 7

(a) wm (b) &

(c) Tora (d) F=B1
0D w7 i 3

(a) gFuw’ (b) ‘Fererrr’

(c) war (d) “argor
B) vt 5 a2 7

(a) FHur (b) wgshf

(c) remdfiva (d) fgm
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(c) W@mm
) STSRARN & s w1

(18/ o v g
S wsg |
. B A B welt 2, 39
(a) Gdam
(b) ferdreur
(c) urg
(d) Sz

WA Wieg 1 1Y B
(a) 98
(b) THeT=R
(c) =T g7

RFL-1I

17, TR G 35 R 3 fog ) R 9
ﬁﬁﬂ?—mmm@qﬁ%?
(8) &' T W, e 2 G B e 2
(b) ‘ﬁymwmwa@mm%
\ T TEEE T A w1 ot w R A g 2
(d) ‘FE H WY Y F i g 7 2

frefafaa =) @t § ¥ omdmary -
quf g ?

(d) §°FE 9]

Instruction for Question Nos. 21 to 25 :

(@ 9,F (b)) I, W
(c) ‘3, ‘3’ (d T, ¥

f@_ Preffaa vl 3§ FH-ar aof go= 782 -
(@ = (b)
(© ‘g () T

20. Rshferr =1 aref 8

(@) MR MW oy I R g
() WIThR H 981 (d) I& I F=a1

Read the following passage carefully and answer the following questions that follows :

Education is a device for helping a man to grow to his full stature. It enables him to realize his nature both mentally
and spiritually and in that realization to become all that he has itin him to be. Itis to the child what perfect gardening
is to the tree, a help so to grow that it rhay develop its own personality. A good gardener helps each plant to put
forth that essential quality of its own that differentiates it from all other plants and makes it a thing of use and beauty
in the world. The good education performs a similar office for the human being.

To the man of trained faculties and developed tastes the world becomes literally a larger place, larger and the more
exciting. He is able to see in it more beauty, more var.lety, MAre SCopS for his sympathy and understanding than
he saw before. So far as the understanding of the universe is concerned while education diminishes certainly of
what is, it widens his sense of the possibilities of what may be and transforms the world from humdrum scene of

workshop, factory and office to a universe of mystery and treasure house of beauty.

themore | 22. Education enables a man

21. The world becomes @ larger place and
A4 To realize his nature both mentally and spiritually

exciting
(a) Fora wrestler
(b) For a thief
(c) For a cheat
) For a man of trained
tastes

(b) To become a gardener

(c) To be physically strong

facuities and developed :
‘ s (d) To become a successful person

3:
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23. What an educated man is able to see in the world ?
(a) Mountains, hills and bughes
(b) Roads, meadows and inns

\{SMore beauty, more Variety, more scope for his

sympathy and understanding than he saw before
(d) Rivers, lakes ang rocks

24. The Passage “universe of mystery and a treasure
house of beauty” means _
\Jﬂmelping a man to develop the best in him
(b) Universe full of mysterious and beautiful things
(c) Education of universe makes a man wise
and beautiful
(d) Education of universe makes him bounteous
and large hearted

25. What is the work of a good gardener ?
(a) To help each plant to take water
\,(,br)/T o help each plant to put forth the essential
quality of its own
(c) To help each plant to grow
(d) To help each plant to be green and healthy

@ The word ‘rendezvous’ means
(a) Endeavour '
A place appointed for a meeting
(c) A secret place
(d) Adventure

27. Which of the following word is wrongly spelt ?
(@) Correspondence -
(b) Conscience
(c) Occurrence

udr)’ Conveneince

28. Changethe sentence “let it be done at once” into
active voice. .

(a) Let it happen at once

(b) Do it atleast once

(c) Let it occur at once
) Do it at once

RFL -

29. Punctuate the following sentence :
"Whatever is is right.”
(a) Whatever is. Is right ?
(b) Whatever. Is is right.

LAY Whatever is, is right.

(d) Whatever, is, is right

30. Choose the correct synonym of the word

‘abominable’.
L=y Disgusting (b) Cold
(c) Abusive (d) Hot

31. Choose the correct conjunction from the following
options to complete the sentence :

“He got o
g%a/ugntu -
(b) Because

(c) Although \~"
(d) If

he was ill".

32. 'In the pipeline’ means
In the process of being developed
(b) Partake
(c) Pinnacle
(d) Prions

33. In the sentence, "he finished the jobat one go”)
the word ‘go’ is s P

(a) Verb MOun

(c) Adverb (d) Adjective

34. Change the sentence “| never eat meat, he
explained” into indirect speech.
(a) He explains that | eat meat
(b) He explained to eat meat
\(er He explained that he never ate meat
(d) I explained that he never eats meat

35. “White elephant” means
(a) Arare object
\ 7 An uneconomical possession
(c) An object that does not exist
(d) A useful possession
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(C) 12 minutes

\*b)(21 Minutes

(d) 11 minutes

37. Find the number of triangles in the following figure -
\o'\’"" VY3
38.  Matchthe List— | with the List—1l and select the correct
answer using the codes given below the list :
List -1 List—1I
A. All men are mortal. 1. Universal negative
B. No man are perfect. 2. Particular negative
C. Some students 3. Universal
are intelligent. affirmative
D. Some farmers 4. Particular
are not rich. affirmative
Codes :
A B ¢C D
(a) 1 3 4 2
(b)2 4 1 3
(c) 4 1 3 2
wAdT3 1 4 2

The process of judging some problem situation
on the basis of its similarity with one encountered
earlier, is known as
(a) Anchoring heuristics
(b) Heuristics of representativeness
(c) Adjustment heuristics

(d) Availability

Which one of the following sometimes hinders
the problem solving ?
(a) Heuristics

(b) Mental set

(c) Analogy (d) Algorithms
41.) Which of the following decision making style takes
longer time ?

(b) Behavioural style
(d) None of the above

(a) Analytical style
(c) Directive style )

37.

38.

39.

40.

41.

V2
lo

o]

e ReL-1

T 12 et 53 feer el w0 T | 76
fire 3 9% 2 et wgan 2 sk o e 1 e
13 o8 ST 2 | w1 v g v T A @
% ¥ T ugE R

(a) 10 fire (b) 21 fore

(c) 12 fire (d) 11 fame

et sl 3 Brgst 6 s s Bt

(a) 12
(c) 14

Tt - | =l g

(b) 13
(d) 15

11 8 gt Aifiry i gt 3 A
- | -1l
A. Tt Tgey woomsfet 21 1. AT fitemers
B Tysa o I 21 2. sivreamht e
C. 35 foremefl afemm 31 3. wedoamht warmrer
D. F% foram ot T R1 4. siveardt wamoems
e :
A
(a) 1
(b) 2
(c) 4
(d) 3
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42.  The proportion of various sectors in a pie chart
is directly proportional to
(a) Perimeter of sectors
By Angle of sectors
(c) Area of sectors
(d) None of the above

43. Mode of the obse
17,16, 16, 12, 1
(a) 13
Lie) 16

44. The principal use of ‘definition’ is to eliminate
(a) Logical forms (b) Rules of grammar
(¢) Meaning (& Ambiguity

Any valid standard form of categorical syllogism
with a particular conclusion and two universal
premises will commit the fallacy of

(a) Hlicit major (b) Existential fallacy

(c) Nicit minor (d) Undistributed middle

The missing number (?) in the following series :
60, 180, 90, 270, ?, 405 is

(a) 675 (b) 540

(c) 360 (d) 135

rvations 10, 11, 16, 17, 12, 13,
6, 10, 15, 16, 10 is

(b) 15

(d) None of the above

47. The age of father is twice that the sum of ages
of his two sons. 20 years later, the age of father
will become the sum of ages of his two sons, The
present age of father is
(a) 40 years (b)Y 60 years
(c) 30 years (d) 50 years

48. Complete the sequence with the corree
from the following codes :

EGIK: FILO::FHJL:?
(a) JGMP (b) JGPM

(c) GJPM UsGimp

49. How many 4's are there in the fo
are preceded by 7 but NOT follow
593217426974613287
74395820187463

a) Four (b) Three
(c) Six (d) Five

50. In a row of boys, if A who is 1qth
and Bwhois 9tx from the right, intergﬁm the left
positions, A becomes 15th from th ange their

many boys are there in the r © left.

ow ?
(a) 24

(b) 31
- _er23

(d) 28

t option

llowing which
edby 37

51383255

42

43,

44,

45,

46.

47.

48.

49.

50.

RFL -
U 9 ot 1 Rafiyy i
zﬁm%ﬂ TSl T ST e
0 et 5 o o
Ier@ue]
() | % &owd &
(d) Ifa & B =g 7

&t 10, 11, 16, 17, 12, 13, 17, 16, 16, 12, 16,
10, 15, 16, 10 %1 ageTh 2

(a) 13 (b) 15

c)16 (d) 374 H & i T
foraeh Frreror & “afoqmen’ <A1 wg@ s 2 ¢
(a) wTfeheh HMTRR
(c) 3 & (d) Gfegwar

foredt Ay g R w1 PRy A e
faftre & @ 2Fi anuR g gEETdh @, d I
e Rfga gm

(a) Il g o (b) @dreHs TR

(c) Frafid W7gea ug (d) ear wem
frfafaa 5

60, 180, 90, 270, ?, 405 & T &1 (?7) B

(a) 675 (b) 540

(c) 360 (d) 135

foan 1 oy 6% § T A 3y F Fm B g
2 120 7d gy fran i 3y <Al G & o F
IR & TR & I | e Y adam oy R
(a) 40 a9 (b) 60 T

(c) 30 = (d) 50 9§

frfafas g @l 3§ @ w& faseq gro 3rgea i
7of IR

EGIK: FILO:: FHJL: ?

(a) JGMP (b) JGPM

(c) GJPM (d) GIMP

Frfafaa § e W@ 4 8 R wew 7 2, ofd
T H 3TER ?
59321742697461328741383256
74395820187463
(a) 9K (b) o
(c) B: (d) 9=

| <Y w dfaa A afe A, o S d 104w
?zg?aﬂtsaéaﬂtégﬁmm%,ﬂfiﬁmg
o ) 39§ wge o) 8, A ASTS 3 A 15
o R T 2 | 9fFa  Fa feha A9k § 7
(a) 24 (b) 31
(c) 23 (d) 28

—
~
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51.

53.

Arrange the wordg

sequence :

1. Presentation

2. Recommendation -

3. Arrival \

4. Discussion

5. lntroduction 7
3,5,1,4,2

(c) 3,5, 42,1

given below ip, 4 meaningful

b) 5,34,1,2
(d) 5! 3’1I2|4

\

3 men or 7 women finish a work in 32 days.

7 men and 5 women together will finish the twice
of this work in

(a) 19 days
(c) 27 days

(b) 21 days
(d) 36 days

Two trains of length 127 mt. and 98 mt. are moving
in opposite directions ‘with speed 35 km/hr and
55 km/hr respectively. After meeting they will
cross each other in

(a) 6 seconds

(b) 8 seconds

LA<) 9 seconds

54.

55.

(d) 10 seconds

If x3 + y3 = 35 and xy = 6, x >y, then value of
(x —y) will be .

wa) 1

(b) 2
(c) 3
(d) None of the above

factors of the
If (x — 1) and (x + 1) are two

pofynomi)al %6 — 1, then its other factors are

(@) (x2+ 1), (G +x+1)

(b (x+ 1), (B =X= 1)

LACT (2 = x+ 1), (2 +x+ 1)

96.

Cc

(d) (@ —x= 1), (E+x=1)

s 112 mt. long and 62 mt. broad.
6 mt. is dug at each of the
d the soil sO removed
ng field. Find the

Arectangular field i
A cubical tank of edfge;d "
four corners of the field and e
is evenly spread on thg remaini
rise in the level of the field.

-(a) 13.13cm 112
- (b) 11.9cm {1
12.7cm
(d) 14.24 cm _—
-/
\ [ T s*
et

al.

52.

53.

54,

55.

56.

RFL - 1I
= 10 T i ) a3 e A ;
1. wfa
2. wgfa
3. I
4, 9=
5. 9=y
(@) 3,51,4,2 (b) 5,3,4,1,2
(c) 3,5,4,2,1 (d) 5,3,1,2 4

33narﬁm7aﬂlﬁ@$rﬁiﬁrazﬂaﬁwméa
3 |73narﬁaﬂt'53ﬂﬁﬁm?{3ﬂ€s§gﬁmm‘1
T HA

(b) 21 fe=i %

(d) 36 feai 1

127 Hiet 3R 98 wiex ol & Yermifeat fmta Reomad
¥ 3IgER 35 fRAY, /6w 55 fR . /o & T |
TR lﬁaﬁ%mﬁmmé@-@aﬁ

R R TR 7 3M =t = BT
(a) 6% P

(b) 8 ¥HvE 32
(c) 9 THhve

(d) 10 Fehvg

Al x3 +y3 = 35 xy =6, x>y, W (x—y) H
LR

(@) 1

(b) 2
(c) 3

(d) Sudera # @ Frg TE

afe §- 1% Q) rEg (x - 1)
(xfﬁ%mmw@u& '

(@) (x2+1), (% +x + 1)
(b) (x2+1), (x2 = x - 1)
(©) (¥ =x+1), (x2 4+ x 4+ 1
(A) (6 =x=1), (2 + x - q)

Th AR Ta 6

TG TR R B gerd ey 2 ) A
REATE fomr femm | ¥ % o wed g
(a) 13.13 oy

(b) 11.9 Tft

(c) 12.7 gy

(d) 14.24 gy
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57. The radius of a solid sphere of a metalblz
3 cm. How long wire of diameter 4 mm can

drawn from it ?
W{Q.O mt.

(a) 8.8 mt.
(d) 9.1 mt.

(c) 9.6 mt.

Seventeen candidates appeared in an
examination. The marks of the candidates Who
failed in the &xamination are 10, 9, 6, 7, 8, 8, %

58.

"3, 4, 6. The median of marks of all seventeen
candidates is

(a) & (b) 7

(c) 9

¢ {9 None of the above
59.  Which of the following is NOT an interpersonal

barrier in organizational communication ?
(a) Ethnocentrism

(b) Semantics
(c) Ingratiation
vt Impression management

60. Highest degree of communication openness is

found in

\4&) Informal communication
(b) Meta-communication
(c) Direct communication
(d) Indirect communication

61. Which one of the following behaviour is the most

appropriate for diffusing verbal abuse of co-workers ?
(a) Become defensive
(b) Get into debate

Refuse to accept harmful language
(d) Keep aggressive body language

‘Proxemics’ is relateq to

(2) Neutral Communication
(b) Unidirectional ¢
(c) Verbal Commy
(d) Non-verbal Cg

ommunication
Nication

MMunication

63. The key element for
communication g
(a) Abstraction
(b) De-'sensitization
Active Iistening
(d) Ego-centric reinforcement

Which one of the followin

organisationa| ecology ? 9IS relateq With
(a) Centralizeq

Communicati
(b) Upward Communication o0
(c) Lateral Co

MMunication
(d) Downward Communication

effective intérpersonal

-8-

57,

38,

39.

60.

61.

62.

63.

64.

RFL -y
TRt o & " .
4%@1;;;25% B s g
A AR e gy 3
(a) 8.8 Uiy (b) 9.0 e
(©) 9.6 i (d) 9.1

' ,6.7,8,8,7‘5‘
4,6%|mﬂmmﬁ5ﬁ%mzﬁrm@m%

(a) 6 (b) 7

(c) 9 (d) 37 & | 75 5
@mmarbwﬁﬁn%f@aﬁéﬁq—m
SFTAlFIR Iy T R 2

(a) wefe Shfga

EELEE!

HEOT s 1 Seaan siw o 2
(a) =T Txivo §

(b) AeT-wwEY §

(c) Scael |l |

(d) HUcaE G A

frafafea 9 | -1 sqaEn wewill & s
FTuereg <l Toa-Torat w0 # gaifs sugs @

b) dTg EERL )

((c; BT WTHT I THR H  §HR

(d) W%Wmm

"HTl:ﬁ'Cq’ (W)m%

(a) TeEY TENT A

(b) T fexiimre weiiw &

(c) fegsh TwoT &

(d) Srfeseh TEEO &

St TR T e T 8

(a) I
(OREEELE
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65. Smita reckoned sixteen
twenty-ninth from the bott
have passed an examin
not appear in the exam;
it. How many students
(a) 40
(c) 50

o Lof k"

.
| )

th from the top and

Om among those who
ation. Six students did
nation and five failed in
were there in the class ?

(b) 44
LA 55

66.. Ravi started walking towards East. After moving
a distance of 1 km, he turned Southwards and
walked 5 km. Again he turned to East and walked
2 km. Finally he turned to the North and walked
9 km. How far is he from his starting point ?

(a) 7 km LABT 5 km

(c) 4 km (d) 3km

67. Which one of the following diagrams properly
represents the relationship among ‘Body’, ‘Ear’,

‘Mouth’ ?

(a)

96

Four menA, B, C, D and four women W, X, Y, Z
are sitting around a table facing each other. If
i No two men or women aré sitting together.

i, Wis to the right of B. |
i Yis facing X and s to the left of A.

iv. C is to the right of Z.

Then who are the tWo persons sitting adjacent
toD?
(a) Wand Y (b) X anddv;l
(c) Xand Z (d) Wan
i i TZAL
.@ In a certain code, 15789 is wntten. 3253)5(49 "
and 2346 is written as NPSU. How will
?
written in that code ¢
(a) NPTUL (b) PNEIE
(c) NPTSL (d) NB
- X B (VIR

-9-

3, E?L s
N @SS RFL -1l

65. Rl Tl i sefid o i i e o1 T A T4

66.

67.

68.

69.

16 a1 au1 9 Q29 & o7 | 7: DA 3 Tl DI

ﬁmgﬁtsmmﬁyﬂ;ﬁu{r@maﬂﬁgﬂmﬁ
CERR

(a) 40
(c) 80

(b) 44
(d) 55

a3 gd A IR =TT S fr, 1 fp, Ter
F II IE S0 R A T2 e 2 3iw 5 Fp
Ted & | §F: 98 T@ hl TF qear 2 3 2 F o,
TerdT 8 | AW aR 98 IW A WE gaa 2 i
g fop.ift. =l @ | A W fig @ @ fra
gme?

(a) 7 Fem.Ht.
(c) 4 fer.H.

Prfifaa § 4 F9-a1 WitE 9, w1 s
grae 1 98l aliss @ oI HET 8 ?

(a.) (b) @
() @ (@ @

STGE A, B, C, DT TR AfRETE W, X, Y, Z T
¥ IR T T g o o He Rl 43§ 1 Afe
i, s oft ) qEY 3T Wigen WU-w A

CCE
i, W, B e (& <31 8 |
i, Y, X % | YT A % ST qh 4 R |
iv. C, Z% TIfe T A1 R |
(a) WY (b) X T W
(c) XqHU1 Z (d) We Z

(b) 5 fer.fh.
(d) 3 fer.A.

Torelt Tfeard e T o 15789 1 XTZAL 31t 2346
H NPSU & %9 # foran man & | 3eh e o &
23549 % fra y&R forar smm 2

(a) NPTUL (b) PNTSL
_(c) NPTSL (d) NBTSL
"X B2 C
YA 8
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Find the missing number in the following figure :
04 05 06

02 03 07

01 08 03

— ]

21 98 ?

—_——

(a) 94 (b) 88
(c) 92 (d) 86
Which one of the fo

llowing refers to the ‘framing
effect’ in the context of decision making ?
() The way in which options are presented
influence the selection of option
(b) Choosing the

option having highest
€xpected utility

(c) Akind of set Points of thought in wrong
direction

e Looking for evidences that wiil confirm what

are currently believes

72. The tendency of members in a highly cohesive

group to lose critical evaluative decision
making capabilities is called

(a) Group think

(b) Assertiveness

ey Group polarization

(d) Cognitive dissonance

The decision making style that “overly concerned
with keeping everyone happy” is called

(a) Conceptual style
(b) Directive style
(c) Behavioural style
(d) Analytical style

Which one of the following is NOT a ruie for estimating
the likelihood of outcomes of any decision ?

(a) Assessing utility \(b) Representativeness
(c) Availability (d) Adjustment

In avalid standar_d fo‘rm of categorical syllogism.
if predicate term Is distributed in the conclusion,
then it must be distributeq

(@) in both the premises

(b) in minor premises

(c) in major premises

(d) in none of the premises

Probability is an attribute of
(@) An inductive argument
(b) Adeductive argument
(c) Disjunctive proposition
(d) Categorical proposition

-10-

70,

M.

72,

73.

74.

75.

76,

3IeTE HET R 7
(@) %ﬂﬁq‘iﬁm@ﬁ(aﬂén,%m%m 3
viTfer s R i

(b) mﬁm?ﬂwmﬁwmﬁm
Taifys & e

(c) e fem & ForeIwt 3 ferame vt +1 ws y
(d) 37 A F e I adum o

T &
mmmw%m%mm
e i S % T & 9 A v
HEATI 2

(a) T €=

(b) E?ﬂm

(c) ¥ Yoo

(d) EHTCH: SEaTRa

foofem i 7 At < ol Y o= & s
(a) TR el

(b) Ticemenss deht

(c) SHIERH el

(d) foreetworrerh Feh

frferiaa ® | $-m fofa < aiwr & e
¥ e w1 Prm it ¢
(@) ST 1 e
(c) 3IUcTeydl

(b) whefaftrepa
(d) AT

- W afe get T
AY THF AR & e _AEa
m&ﬁm%,ﬁﬁmmgﬁ
(a) Sl T AR A °
(b)wmwmﬁﬁ Eame

MUR I d |

Eg; g%ﬁaﬂmmﬁqﬁ

TERTEAT T B -
@) Wﬁﬂ
b Eillqulcqu

((c; e dehdad %TW
(d) freafies qeRared

Gongm

-
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Complete the following s_gri

Which of the following decis

to be good at discovgerin(gus(:l?:a;?vaekers afe "
i probloim solutions to
(a) Directive style decision makers

(b) Analytic style decision makers

(c) Conceptual style decision makers

(d) Behavioural style decision makers @

78. What .number would come in the place of
question mark ?

(ak72
(c) 58

79. If'A'is B's sister, ‘C' is B's mother, 'D’is C's father,
‘E'is D's mother, then how is Arelatedto D ?

(a) Grandfather ~ \_4b)" Granddaughter
(c) Grandmother (d) Daughter

80. . If you write down all the numbers from 1 to 100,
then how many times do you write 37

\44] 20 (b) 11

(c) 21 (d) 10

81. Read the following statements:
|. Rama is older than Sonam.
Il. Poonam is older than Rama.

IIl. Sonam is older than Poonam. y
If the first two statements are true, then the thir

statement is
(a) True

viey False

82. Choose the odd P
(a) Volume : Litre
(c) Length : Meter

(b) Uncertain
(d) None of the above

air of words
Pressure :

(d) Resistance

Barometer
Oohm

es with the correct

option :

3,2 6,8, 18,40, 7
(@) 70

(c) 72

(b) 71
(d) 75
g7,

C -,L:(i'z’wg

— N ~
1 t° Lq/

o lv 9

Mothd

A1-

77.

78.

79.

80.

81.

82.

83.

RFL I

Frefefan # & fr frotasaiat 4 @mens &
YIS GAH G ) sreh) wffer T 71 2 7
(a) P& eh 3 Frctraaia #

(b) Fermcivmmers Sht % Frofraais #

(c) FIcHATHH e & Frobgaatat o

(d) HIERIE Neht % Frofaamaiadf 5

e Rrg % T4 # B~ wem s 7
/\
? ><
72 40
\/

af ‘A BEI EgI ?, 'C,BHR A 2, ‘D, CH
3 E DHA Y, TEAF DA T TFYR ?
(a) QT (b) Tt

ORA (d) =&

afz a9 1§ 100 7% % @it FEw fwed g,
Y fpeet @ 3 fored € 7
(a) 20 (b) 11
(c) 21 (d) 10
Prerffga oAl # 9fe
| wr, @M AamA TR |
Il gm, T AW E a R |
I, 9w, T T T R |
o wewt N1 FU T R, < i wu R

(b) 84
(d) 66

(a) ¥ (b) R

(c) He™ (d) 3w & | w7
) & fowm gm 1 g

(8) 3T : MR (b) game ; Adefrew
fefciRea s@en = g fygey

3,2,6,8,18, 40, ? 0 i
(@) 70 (b) 71
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84. A shopkeeper marks the
above its cost price. He o
the marked price and
of discount is
(a) 8%

(c) 12%

Price of an article 20%
ffers some discount on
9ains a profit of 8%. Rate

LABT10%
(d) 15%

85. If'+'means‘+ ' means X', 'x means *+ and ¥
means '~ then 6 +10-4x1246=7

=32 (b) 32
() —414 (d) 48
¥_ o, X x® + xy?
86. If==2-2 i
x v’ then the value of N y3 is
equal to
(@o (b)

%
OEA Lef 1

A and B are two sets. A has 10 members and
B has 18 members. AUB = 20. The number of
members in A n B will be

(a) 10 (b) 12
Lo 8- (d) 6
88. The diagonals of a rhombus are 32 cm and
24 cm. Its perimeter will be

(a) 50 cm (b) 60 cm
(c) 70cm L/(d)/ 80 cm

89. Two variablesy and x are related as y=5x+4. The
arithmetic mean of x is 10. Arithmetic

87.

mean of y
will be
(a) 50 \4b7 54
(c) 29 " (d) 46
90. The mean of first twenty positive even numbers is
(a) 20 (b) 18
(c) 17 Lisdy 21
91,/ Which one of the following is a parafineics:
in communication ? Paralinguistic cue
(a) Facial expression Gesture
(c) Tonal pitch (d) Posture

In which type of communi
likelihood of emergence of

@.

cation network there is

g X agroup leaq
salisfaction among the member of ¢ e‘;: gll:t I??wer
(a) Wheel type (b) Circle Bt P
(c) Chain type

T (d) Barreg type

-12-

84,

85.

86.

87.

88.

89.

90.

91.

92.

==

RFL <

(00— 2= *©

S M) “

WEI',:'[MWWWW%WWQQO%
Wwaiﬁﬁwm%la%ﬁﬁm@mgm@;}m
2 3R 8% T ey 2 | g2 & o 2

(a) 8% (b) 10%

() 12% (d) 15%

afe + 1 ared Rl A C VRN I+l
H I R, TH6+ 10— 4 x 12+6=7
(@) —32

(b) 32
(c) —41.4 (d) 48
Yy _ . X x3 + xy?
W =2-0. X3+yy3 17 A
(@ o0

®) 2

(d) 1

©% .
ATE BQ a= § | A 1052w ¥ o Bt 18 T
& 1AUB=20,@ An BT frd wemr a1 7
(a) 10 (b) 12

(c) 8 (d) 6

forelt ol o6 oot 32 2t o 2430 | v
TR g

(a) 50 Aft (b) 60 Feft

(c) 70 Ff (d) BOFH

q Wy wd x frfefa wwr @ gt 2
y = 5x + 4 | afe x & @R WL 10 &, @y

T GHHTRR 189 20
(a) 50
(c) 29

(b) 54
(d) 46

o g TR qY GEI H1 A

(a) 20 (b) 18

() 17 N 2'1qw1ﬁué'#ﬂ% ?
Freferi 3 & - a3 '
(@) et fvaten (0) T

(c) T waf g (9) N
FETEAT il :

g g ? . i

(a) ﬁ%mﬁ _
(c) *faretr s A
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93, “Which ofthe followingis an example isati
~— . T O
silence in upward communicatign ofOrganlsatlonal
(a) Distortion (b) Delay.
(c) Filtering (d) Lack of response

94. }i/;/g(:]?ngf';he following is NOT a form of positive
(a) Diagnostic listening
(b) Reflective listening
(c) Empathic listering
udgemental listening

/@ Which of the following is NOT a communication
barrier related to noise ?
(a) Perceptual problems
(b) Information overload
(c) Dyadic archetypes
(d) Cultural differences

96. In the communication process, successful
transfer of message can be checked through

(a) Encoding (b) Medium
\_Ler Feedback (d) Passive decoding
97. Cross-departmental Committees are the form of

(a) Optimum Communication
(b) Upward Communication
(c) Downward Communication
L/{d’fLateral Communication ‘
98. Amanpointingtoa photograph says—"Theladyin thle
photograph is my nephew’s matemal grand-mothef.
How s the lady in the photograph relat_ed totheman's
sister, who has no other sister ? She is
(a) Cousin ._ (b) Sister-in-law

(c) Mother Mother—in-,law

99 Find the correct altemnative from the following :

7] . )
Ocean :; Pacific . : Island : *
) Greenland (b) Ire&ar;c(i) |
(c) Netherland (d) Born
100. Armange the following i
1. Frog

2. Eagle -]
3. Grasshopper/ /4

n a logical order :

93.

94.

" g5.

96.

97.

98.

99.

100.

RFL - I
e 3 2 v bl w3
ST T H1 TF 20 2 7
(a) Forpfe (b) frerea
(c) frede (d) IR %1 IME
fefifaa § | a1 wehmrers s H TG & 7
(a) EIECICl|
(b) wrafdd Zrem
(c) T F
(d) Frofarere &

frafifad d @ SHA-91 IR 4 gEfg aem |
a8 ?

(a) A& -FACHS G -

(b) I
(c) few ImeT=yd

(d) aepfaen ffirand

e R § G S g H i

1 51 wehat @

(a) e Heped g1 (b) HITIH T
v(c)u?lj@‘m - (d) Tfera fegsha gra
yR-favrfra affeat 9 8

(a) 3oTAH FEGUl I

(b) ST FEwr @

(c) IFuNIH FqEwor

(d) wrfgeier wwstwor <Al ‘
@ﬁmmﬂmgm%—
“GremE § eRfg wikem M W H A & 17
BTG i 3g gfeen F 3IW AfFq F @1 | F1
TrEey R, Rt o771 B 954 TE 8 7 97

(a) T TR (b) TR
(c) i & (d) @ R
Frfefea § & v e 1 s Hiftr
m:mm;;aq:?
(a) s, (b)  3TEIvE
(c) Frewive (d) =i
Frerfee =1 s s 3 afeer HRA
1. Hewh o
2.
3 femr
4, @
5. °Td
(b) 3,4,2 5 1
(d) 5,3,4, 2 1
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